
 

 

 

 

 

 

 

 

Sales • Service • Repair 

 

Professional Service – Fast Nationwide Shipping 
 

 

 

 

 

 

 

 

 

1-866-455-9900 
 

www.OnlineSkyline.com CustomerService@onlineskyline.com 
 

http://www.onlineskyline.com/
mailto:CustomerService@onlineskyline.com


PARTS
NO.

VS25  CODE DESCRIPTION RECOMMEND
使用
数

3 7065-9003 PAPER TABLE 1
4 7065-7004 CHASSIS 1
5 7065-9005 GUIDE TABLE 1

10 7065-0010 TABLE STOPPER 1
12 38-367 STOPPER 1
14 7065-0014 PAPER CLAMP SUPPORT 1
15 46-007 PAPER GUIDE ● 1
18 38-234 PAPER CHIP RECEPTACLE ● 1
19 7065-0019 MOTOR COVER 1
21 48-311 POLE SUPPORT 1
23 49-001 GEAR ● 1
24 7065-7024 LEVER 1
26 7065-0026 PAPER HOLDER 1
27 7063-0022 POLE 1
28 48-032 STOPPER SHAFT 1
29 48-012 OPERATION ARM SHAFT 1
30 48-033 CLAMP BAR 1
31 48-027 TABLE STOPPER KNOB 1
32 48-028 TABLE STOPPER SHAFT 1
33 48-036 PAPER HOLDER SHAFT 1
34 48-019 LINK SCREW 2
38 7053-0638 PAEPR FEED GAUGE 1
39 60-631 ROLLER 1
41 51-875 STOPPER HANDLE 1
42 51-886 PAPER CLAMP SPRING BRACKET 1
43 51-885 PAPER CLAMP 1
44 7065-0059 DRILL BIT SHARPENER ● 1
46 51-865 CHIP COVER ● 1

47 with116 60-334 POLE SPRING WITH COVER 1
48 60-335 PAPER CLAMP SPRING 1
49 60-338 PAPER HOLDER SPRING 1
50 60-337 STOPPER HANDLE SPRING 1
56 80-296 OIL STONE 1
57 81-000 PARAPHINE 1
63 74-033 UCHIDA NAME PLATE 1
65 96-785 VINYLE POUCH 1
66 96-790 TOOL BAG 1
67 57-087 MOTOR SHAFT CAP ● 1
70 1-110-5905 FIBER ● 3
71 71-799 PICK 1
72 80-950 SPANNER 1
77 51-884 RUBBER STOPPER 1
78 57-118 RUBBER FOOT (SMALL) 4
79 69-692 DRILL STOPPER KNOB ● 1
83 08-286 CAP SCREW (M8X29　20　)SW
85 09-329 NUT (M6) SW
87 00-358 SCREW (M4X8)
88 00-314 SCREW (M3X8)
89 02-020 SCREW (M4X20)
90 02-847 SCREW (M4X22)
91 03-390 SCREW (4X15)
92 01-976 SCREW (M3X28)
93 09-054 NUT (M4)
96 51-889 SUPPORT CAP
97 08-233 CAP SCREW (M4X16)

101 65-413 E RING (E-8)
103 65-426 E RING (E.-2.5)
106 09-426 FLAT WASHER (6.5X16X1.0)
111 09-427 FLAT WASHER (8.5X18X1.6)
113 72-780 MOTOR ASSY ● 1
116 60-334
117 02-848 SCREW (M4X25)
118 7065-0118 PAPER FEED GAUGE BRACKET
120 08-243 CAP BOLT (M5X12)
121 09-259 NUT (M5)W
125 7065-9018 TOOL KIT ● 1

7065-9026 紙はさみセット
INCH BAR




